SONY.

4-074-715-11(1)

Projector
Suspension Support

0910 F—=YIN232Yik—k
1HREER FHE RS

BEVEFUVEEEDDRED CEVET ., COMMEERAEE. FHERAICENNICD
DT,

BEHEN
AEBOBDMIFCIE., BEEEEDNNE(CEDETT, HF. BRFTEPLIEECKEE
LT, Z2MICHRAEBR LU THERLFRD I ZT > TS0,

NEBE| 220pOIBEEETSENE, KEPASERHEDENBDET.
COHABICIE, BHENH<HOBEDTEBEELSLRDBO HL)
DeARLCHDET., CORPBEL BFHFDIZ. BREERS
CBEVLEEV. BFBCHTBEF. WOTHESNBETS
[CAFRELTZE .

ISR

ABBOBMO M SRR UETT DT, REORICIFRY
BFBELCEOL. BEETOTZEW. BOMIEPRD
BUORBIC L DB, BBICONTIE. S TRIEAEENFEA,
mB. CORURSIEER. MO MIHEERICBREICEL TS
Lo
COTOYIIH—TANYY 3 VT R— NG TOY T 5—FHT
¥, JOY T IS LINOBEICREDENT 2T,

Installation manual for Dealers

Manuel d’installation destiné aux revendeurs
Installationshandbuch fir Handler

Manual de instalaciéon para proveedores
Manuale d’installazione per i rivenditori

LRMABEHEER

BAUART
GEPRUFT
TYPE

TUV Rheinland APPROVED

PSS-610

© 2005 Sony Corporation




M AEE : X 20 kg
PSS-61013Y =—DLCD 7 u¥ =& &4 —FHORFHD TIF ¥ Z
RV avHR=1TT,

ZE2EDTHIC

BEERT ORI N
T OBUREBEE B RURRTIE. =8
KDESHETZELTVNET, £ | CORTODATRIREZTSENE.
TONAEILSEBRLTHEAY | BHEEICKDIETPRITHEEA
EPRHRHFLIEET0, BERICOEND I ENBDET,

fTRZETIDERS

bt

HRDEPFICKDIET. KIFHEED
EFZE R T D . TEEDFESEIESR
@O AFHETD LIEEL,
Bk, BBV EFIEICSHEFEL FEEL,
KHRIDEL EB120 KgDEEEZASNDKSIC. HEICIH
U THBREFo> TS,
ISy MNERHICEERD I BESCE. RECADET,
MERDOMI10RIL bEF Y by Dy v—&SERLIESL. M10
USADRIVE. Fv b, Ty v—TRDiHI2EETT BER
h&BbET,
B O RFIECHES TL EEW. FIBCRDEVWEETT 2R
R, L - KIFDICHEB T EDBDET,
PSS-6103Y=—DLCDFOY 1 4 9—DEHFD FIFAY R
RYYa VY R—,TT, ZNLUAORRICHERULEVNTL
=
s JOYVIUI—YARY Y 3 VHR—MPSS-6102 70V Y
H—[CRDHF BRIEAFRECHBORIEERL. DR IIE
ALBVLTL SV, 2YERHTELIGE. IOV I5—0
WO MFHBADRIET BT DB ET,
BB, CEACEZ IOV I9—5dV\EEROXRED BAE
BRECHMD HFTADRIDMBENTLIRAR. 255
ICRBORIEBENLEEL.

Maximum load: 20 kg (44 Ib 1 02)

The PSS-610 suspension support is designed to be
used with the Sony LCD projector.

Caution

« For installation, consult with qualified Sony
personnel.

 The ceiling should be capable of supporting a weight
of at least 120 kg (264 Ib 8 oz); if not, the ceiling
must be reinforced.

* When you attach the bracket directly to the ceiling,
use commercially available M 10 bolts with nuts and
washers, depending on the ceiling. Use of other
bolts, nuts, and washers other than M10 may present
a danger of falling.

 Be sure to assemble and attach the bracket in the
order indicated; otherwise the projector may fall.

« The PSS-610 suspension support is designed for use
with Sony LCD projector. Never use it for another
purpose.

 Use the screws supplied with the PSS-610 to install
the projector suspension support on the projector. Do
not use any other type of screws. To tighten the
screws too hard may cause damage.

If the projector or the support fixture comes with the
screws for the projector mount bracket, use the
screws supplied with the projector or the support
fixture.

Charge maximale: 20 kg (44 Ib 1 02)

Le support de suspension PSS-610 est congu pour étre
utilisé avec le projecteur LCD de Sony.

Attention

 Pour I’installation, adressez-vous a un personnel
Sony qualifié.

« Le plafond doit pouvoir supporter un poids d’au
moins 120 kg (264 1b 8 o0z) ; dans le cas
contraire, il y a lieu de renforcer le plafond.

» Lorsque vous attachez le support directement au
plafond, utilisez des boulons M10 disponibles
dans le commerce avec les écrous et rondelles,
en fonction du plafond. L’utilisation de boulons,
écrous et rondelles différents peut représenter
un danger de chute.

» Assemblez et fixez le support dans 1’ordre
indiqué; sinon, le projecteur risque de tomber.

* Le support de suspension PSS-610 est congu
pour étre utilisé avec un projecteur a cristaux
liquides Sony. Ne ’utilisez jamais a d’autres
fins.




Maximale Belastbarkeit: 20 kg

Die Aufhdngung PSS-610 ist zur Verwendung mit
den LCD-Projektoren von Sony konzipiert.

Vorsicht

» Wenden Sie sich bei der Installation an
qualifizierte Fachkrifte von Sony.

 Die Decke sollte fiir eine Tragfdhigkeit von
mindestens 120 kg ausgelegt ist. Andernfalls
muB die Decke verstirkt werden.

» Wenn Sie die Halterung direkt an der Decke
befestigen, verwenden Sie handelsiibliche M10-
Schrauben mit Muttern und Unterlegscheiben (je
nach Decke). Wenn Sie keine M10-Schrauben, -
Muttern und -Unterlegscheiben verwenden,
besteht die Gefahr, daf} das Gerit herunterfallt.

 Achten Sie darauf, die Halterung in der
angegebenen Reihenfolge zu montieren und
anzubringen. Andernfalls kann der Projektor
herunterfallen.

» Die Aufhidngung PSS-610 wurde speziell fiir
den LCD-Projektor von Sony konzipiert.
Verwenden Sie sie ausschlielich fiir diesen
Projektor.

» Kein weiterer Einsatz bei Schiaden.

Portata massima: 20 kg

Il supporto di sospensione PSS-610 ¢ progettato per
essere utilizzato sia con il proiettore LCD Sony.

Attenzione

* Per I’installazione, consultare personale
qualificato Sony.

« Il soffitto deve essere in grado di sopportare un
peso di almeno 120 kg. Altrimenti il soffitto
dovra essere rinforzato.

 Per I’applicazione della staffa direttamente al
soffitto, utilizzare bulloni, dadi e rondelle di
tipo M 10, comunemente disponibili in
commercio, in funzione del soffitto. L’uso di
altri tipi di bulloni, dadi e rondelle potrebbe
rappresentare un pericolo di caduta.

» Assicurarsi di montare ed applicare la staffa
seguendo I’ordine indicato. Diversamente il
proiettore potrebbe cadere.

« Il supporto di sospensione PSS-610 ¢ stato
progettato per essere utilizzato con il proiettore
LCD Sony. Non utilizzarlo per altri scopi.

Carga maxima: 20 kg (44 Ib 1 02)

El soporte de suspension PSS-610 estd disefiado para
utilizarse con el proyector LCD de Sony.

Precaucion

» Para realizar la instalacion, consulte con
personal Sony especializado.

« El techo debe ser capaz de soportar un peso de
al menos 120 kg (264 Ib 8 0z) . De no ser asf, es
necesario reforzarlo.

« Al fijar el soporte directamente en el techo,
utilice pernos M 10, disponibles en las tiendas
del ramo, con tuercas y arandelas en funcién del
techo. El uso de pernos, tuercas y arandelas que
no sean M10 puede presentar peligro de caida.

» Asegurese de montar y fijar el soporte en el
orden indicado, ya que en caso contrario es
posible que el proyector se caiga.

* El soporte de suspension PSS-610 esta disefiado
para utilizarse con el proyector LCD de Sony.
No lo utilice para ningiin otro propoésito.

RASTEE: 20kg
PSS-610 &Z2H T Sony Mk s B -

TR

o ZEERITH Sony A IR AL FAR N AT -

o RACWNAEZ#E120 kg UL FEEIGES. W
HE, EMEZ -

o B ZREBEEERAUNR ERY . B IRIE ALY
KAV T ER M10 12842 « WRRFFIERE - H
M10 DLAIMRERS: < 03 SR £ e [ 8 A 9%
RIFERS: -

o RIS RN P IR EF 2256258, &
NIHEFAAY LA W] RE 2 P o

« PSS-610 B&ZYH T Sony #idh T as iy
% BB EATEMmER -




BH/R/Table of contents/Table des matiéres/Inhalt/
Indice/Indice/H &

COMPOSANES ..ottt 5
Schéma d'installation ..., 7
Montage au plafond .......ccoceeeiiiiiie e 8
Exemples d'installation au plafond ............ccccoc..e. 18
SPECIfiCatioNS .....eoveeieeeie e 22
ApPPENdiCe ...coeviiiiiiiii e couverture dos
E
Lista de componentes ........ccoceeeiieieiiiec e 5
Diagrama de instalacion ............ccocooeeveeinieeenieeee 7
Montaje en el teCho ........covviiiiiiii s 8
Ejemplos de instalacién en el techo.............c..c..... 18
ESpecificaciones .........cccccoeviiiiiiiiniiee e 22
APENAICE ..ooveiiiiiiii cubierta posterior

R T3 e, 5
L R ST e, 7
T I ZERE e 8
FIEMLLZZEB oo, 18
5 < R ROSTR 22
B S et HE

N

TEIEHSTE <. 5
Installationsdiagramm ........cccocceeiiiiiiien e 7
Montage an der Decke ........cccooveeiiniiiiniiiiniee e 8
Installationsbeispiele ..........ccoceeiiiiiiiiiiiiieieee 18
Technische Daten ..........ccocveiieiiiieieniee e 22
Anhang ......ccooceeiiiiniieeee Hintere Umschlagseite
Italiano
Elenco dei componenti........coocceeeeeiiiiene e 5
Schema dell'installazione ..........cccoooeeeiiieninenceens 7
Montaggio al SOffitto ......c.eeeeeiiiiii 8
Esempi di installazione al soffitto ..........cccccceeeeeen.n. 18
Caratteristiche tecniche .........coocoveiiiiiicreieee, 22
AppendiCe .......cooveeieiiiiee e, Piatto posteriore



SBamaR/Parts List/Composants/Teileliste/Lista de

componentes/Elenco dei componenti/ E&[{F— 5%

KHAYOV RISy k(1)

Upper ceiling mount bracket (1)

Support supérieur de montage au plafond (1)
(a) Obere Deckenmontagehalterung (1)

Soporte superior de montaje en el techo (1)
Staffa superiore di montaggio al soffitto (1)

EXTERRERRE (1)

(b)

FPIvARAYBNINLT (1)
Adjustment pipe (1)
Tube de réglage (1)
Einstellrohr (1)

Tubo de ajuste (1)

Tubo di regolazione (1)

BHE (1)

()

PIvARAYBNINLT (1)
Adjustment pipe (1)
Tube de réglage (1)
Einstellrohr (1)

Tubo de ajuste (1)

Tubo di regolazione (1)

BHE (1)

(d)

JOJzo5—-I9V RISy k(1)
Projector mount bracket (1)

Support de montage du projecteur (1)
Projektormontagehalterung (1)
Soporte de montaje de proyector (1)
Staffa di montaggio del proiettore (1)

BRMRERSE (1)

(e)

2ZIM5EXx12 (3)
Screw M5 x 12 (3)
Vis M5 x 12 (3)
Schraube M5 x 12 (3)
Tornillo M5 x 12 (3)
Vite M5 x 12 (3)

2 M5 x 12 (3)

ERERZES/Parts number/
Numéro de piece/
Teilenummer/

Ndmero de componentes/
Numero dei componenti/
FRFS
4-078-693-01

)

®

IV M8 %50 (2)

Bolt M8 x 50 (2)
Boulon M8 x 50 (2)
Schraube M8 x 50 (2)
Perno M8 x 50 (2)
Bullone M8 x 50 (2)

24 M8 x 50 (2)

ERREES/Parts number/
Numéro de piéce/
Teilenummer/

NUumero de componentes/
Numero dei componenti/
FHES D
4-047-746-11

(9)

2IJM4 X6 (6)
Screw M4 x 6 (6)
Vis M4 x 6 (6)
Schraube M4 x 6 (6)
Tornillo M4 x 6 (6)
Vite M4 x 6 (6)

#21¢ M4 x 6 (6)

EREEES/Parts number/
Numéro de piece/
Teilenummer/

NUumero de componentes/
Numero dei componenti/

TEMES
4-047-765-11




BBaa3%/Parts List/Composants/Teile liste/Lista de componentes/

Elenco dei componenti/ E&}{4—5

Dy +—MB8H (4) EB@&ES/Parts number/
Washer M8 (4) Numéro de piéce/
Rondelle M8 (4) Teilenummer/
(h) Unterlegscheibe M8 (4) Numero de componentes/ >
Arandela M8 (4) Numero dei componenti/
Rondella M8 (4) TS
#E M8 (4) 4-047-748-11
wEdEI Y +v—M8H(4) ERREES/Parts number/
Toothed lock washer M8 (4) Numéro de piéce/
Rondelle hélice M8 (4) Teilenummer/
(i) Zahnscheibe M8 (4) Namero de componentes/
Arandela de bloqueo dentada M8 (4) Numero dei componenti/
Rondella di fermo a denti M8 (4) FEEER
TEIARE M8 (4) 4-047-743-11
F v ~M8 (2) EBRES/Parts number/
Nut M8 (2) Numéro de piéce/
Ecrou M8 (2) Teilenummer/ ~
i) Mutter M8 (2) NGmero de componentes/ @‘.
Tuerca M8 (2) Numero dei componenti/ 27
Dado M8 (2) FEMGSHY
125 M8 (2) 4-047-742-11
E>6 mm (2) EREREES/Parts number/
6 mm pin (2) Numéro de piéce/
Goupille 6 mm (2) Teilenummer/
(k) 6-mm-Stift (2) Nimero de componentes/ D
Pasador de 6 mm (2) Numero dei componenti/
Piedino da 6 mm (2) FEES
émm #EEt (2) 4-047-744-11
AFvTEY (2) BB &ES/Parts number/
Snap pin (2) Numéro de piéce/
Clavette a ressort (2) Teilenummer/
(0] Klammer (2) NGmero de componentes/ (@A
Pasador de retencion (2) Numero dei componenti/
Piedino ad incastro (2) BEE
kit (2) 4-047-903-11

Ci¥E / Note / Remarque / Nota / Hinweis / Nota / i &

TP B =Y ARV Y g VY KR— FPSS610% 70y 7 &
WTL Z &,

—IZHO T BBRIEARICHRO F V&2 L, i DAL &
AV EMMOTELGE, TaY 20 8 —OWD IR BBHRT 52 HB D 7,

Use the screws supplied with the PSS-610 to install the projector suspension support on the projector. Do not use any other
type of screws. To tighten the screws too hard may cause damage.

Utilisez les vis fournies avec 1'unité PSS-610 pour installer le support de suspension du projecteur sur le projecteur. N utilisez
aucun autre type de vis. Ne vissez pas excessivement les vis. Vous pourriez endommager votre matériel.

Utilice los tornillos suministrados con el PSS-610 para instalar el soporte de suspension para proyector en éste. No utilice otro
tipo de tornillos. Si aprieta los tornillos con demasiada fuerza, pueden producirse dafios.

Montieren Sie die Projektoraufhingung PSS-610 mit den mitgelieferten Schrauben am Projektor. Verwenden Sie keine
anderen Schraubentypen. Wenn die Schrauben zu fest angezogen werden, kann es zu Schiden kommen.

Per I’installazione del supporto di sospensione sul proiettore, utilizzare le viti in dotazione con il modello PSS-610. Non
utilizzare altri tipi di viti. Stringere eccessivamente le viti potrebbe causare danni.

T PSS-610 M MR 22 R B L& I SRR TG b - TH 20 AR AR 22 - IR T R RE R %
1 -

6



525+ ;&/Installation Diagram/Schéma d’installation/

Installationsdiagramm/Diagrama de instalacion/
Schema dell’installazione/E i R <f

A=V H A XEEGREE O~ K ORI 57aY 2 7 2 —F TORHREEOEIZ DWW T, LT OFHEE ZELZ X0,
- 7aY 2 74— KRR ORI
AT EL Y B N NOE s AL
-V ZOHUSEAE (BlFeDL v X AR

VPL-S9001ZH ARV ¥ gV H R — b RO 23854103, ZOBFFIHED 14 =V TEL 2 &0,

For details of screen size and installation measurement for projection and the distance between the ceiling and the
projector, refer to the following manuals.

- Operating Instructions of your projector

- Installation Manual for Dealers of your projector

- Installation Manual of the projection lens (when using the optional lens)
To attach the suspension support on the VPL-S900, see page 14 of this manual.

Pour plus de détails sur le format d’écran, la distance de projection ainsi que sur la distance entre le plafond et le
projecteur, consultez les manuels ci-dessous :

- Mode d’emploi de votre projecteur

- Manuel d’installation (de votre projecteur) destiné aux revendeurs

- Manuel d’installation de 1’objectif (lors de 1’utilisation de I’objectif optionnel)
Pour fixer le support de suspension pour projecteur du VPL-S900, reportez-vous a la page 14 de ce manuel.

Genaue Angaben zur Projektionsschirmgrofle und InstallationsmaBen fiir die Projektion sowie zum Abstand
zwischen Decke und Projektor entnehmen Sie bitte den folgenden Handbiichern:

- Bedienungsanleitung zum Projektor

- Installationsanleitung fiir Héandler zum Projektor

- Installationshandbuch zum Objektiv (bei Verwendung des gesondert erhéltlichen Objektivs)
Wenn Sie die Projektoraufhingung des VPL-S900 installieren wollen, schlagen Sie bitte auf Seite 14 dieses
Handbuchs nach.

Para obtener informacién detallada sobre las medidas de instalacién y el tamafio de la pantalla para la proyeccién y
sobre la distancia entre el techo y el proyector, consulte los siguientes manuales.

- Manual de instrucciones del proyector

- Manual de instalacién para proveedores del proyector

- Manual de instalacién del objetivo de proyeccion (al utilizar el 1’obiettivo opzionale)
Para instalar el soporte de suspension para proyector de la unidad VPL-S900, consulte la pagina 14 de este manual.

Per ulteriori informazioni sulle dimensioni dello schermo e sulle misure di installazione per la proiezione e sulla
distanza tra il proiettore e il soffitto, fare riferimento ai seguenti manuali.

- Istruzioni per ’'uso del proiettore

- Manuale di installazione per i rivenditori del proiettore

- Manuale d’installazione dell’obiettivo (quando si utilizza 1’obiettivo opzionale)
Per fissare il supporto di sospensione del proiettore VPL-S900, vedere a pagina 14 del presente manuale.

RIS 574 R R 22 it DA B RALHR 5 A 2 AT B RS 1AM O 15 S DL T 3B 5
- BEAE A LA A
- B ARG 23 T it
- B BB U (A& i)

ZfF VPL-S900 ZEfE R LI, 1SRN BRI 14 11,



XHADH D {F[F b f=/Attaching to the ceiling/
Montage au plafond/Montage an der Decke/

JO0YVzovy—Em
Bottom of projector

Base du projecteur
Unterseite des Projektors
Base del proyector

Base del proiettore

B AR

HAE
=] ]
LY NS 32D R DDA
B v 2z xo5h 2 o054

NSEvE AN A P B [21IOINIVE (= RS AR =S M i
FOFIEAH 180 EEES 2 T,

1 TuY 1 A—F IR, TUD s -V T T yb
(D FEDFT B,
AV M5X12 (e) (3A) #HEHLET,
o HIDFHFDBRIZ, 3 V& ZDLHRD T ELNLIINTEL
TLZEN,
o TUY 2 7 A—RPUESR O NEIH AL FENT
ETEEERT ST,

2 TOY ARV T O)E7F (%R TUY 28—
75y M) IZED T B,
FILEMSX50 () (14), Ty v—MSH (h) (24), B
&7y y vy —M8H (1) (2A4)., F v M8 () (14) #fH
LEd, 7347 (b)1%150/175/200 mm., /¥4 7 (c)1250/
275/300 mm DFIPH CE XA TEEL T,

IA: One screw hole for the lens side
E]: Two screw holes for the lens side

The difference between and E] in the above figures is
that the mounting bracket direction is different (180°).

1 Turn the projector upside down and attach the
projector mount bracket (d) using three screws M5 x
12 (e).

* When attaching the bracket, be careful not to
overtighten the screws.

« Before attaching the projector mount bracket,
place a protective sheet (cloth) beneath the
projector.

2 Attach adjustment pipe (b) or (c) to projector mount
bracket (d) using a bolt M8 x 50 (f), two washers
MS (h), two thoothed lock washers M8 (i) and a nut
MBS (j).
Adjustable height using the pipe (b) is 150/175/200
mm (6/7/7 /s inches).
Adjustable height using the pipe (c) is 250/275/300
mm (9 7/s /10 /s /11 7/s inches).



Montaje en el techo/Montaggio al soffitto/
KIEHR LR &R

: Un orifice de vissage du c6té de 1’objectif
E]: Deux orifices de vissage du c6té de I’objectif

La différence entre [} et [E] dans les figures ci-dessus est que le
sens de montage du support est différent (180°).

1 Retournez le projecteur et fixez le support de montage du
projecteur (d) a I’aide de trois vis M5 x 12 (e).

Remarques

 Lors de I’installation du support de montage, veillez a ne
pas trop serrer les vis.

 Avant de fixer le support de montage du projecteur,
placez une protection (chiffon) sous le prejecteur.

2 Fixez le tube de réglage (b) ou (c) sur le support de
montage du projecteur (d) a I’aide d’un boulon M8 x 50
(f), de deux rondelles M8 (h), de deux rondelles hélice M8
(i) et d’un écrou M8 (j).
La hauteur de réglage avec le tube (b) est de 150/175/200
mm (6/7/7 7/s pouces)
La hauteur de réglage avec le tube (c) est de 250/275/300
mm (9 /s /10 /s /11 7/s pouces)

: Un orificio de tornillo para el lateral del objetivo
E: Dos orificios de tornillo para el lateral del objetivo

La diferencia entre [BY y [E en las anteriores ilustraciones es que
la direccién del soporte de montaje es diferente (180°).

1 Dele la vuelta al proyector y fije el soporte de montaje de
proyector (d) con tres tornillos M5 x 12 (e).

« Al fijar el soporte, tenga cuidado de no apretar
excesivamente los tornillos.

 Antes de fijar el soporte de montaje de proyector,
coloque un pafio de proteccién debajo del proyector.

2 Fije el tubo de ajuste (b) o (c) al soporte de montaje de
proyector (d) con uno perno M8 x 50 (f), dos arandelas
MBS (h), dos arandelas de bloqueo dentadas M8 (i) y una
tuerca M8 (j).
La altura ajustable empleando el tubo (b) es de 150/175/
200 mm (6/7/7 ’/s pulgadas).
La altura ajustable empleando el tubo (c) es de 250/275/
300 mm (9 /s /10 /s /11 7/s pulgadas).

B 5500 — AN 2 L
E: &4 w2 L
LE Y R 3 R AR

1 FHEEHEREAN . 28 AN ZEE 20 (d) -
A 3 MEE M5 x 12 (e)s
-*”i A, TH )RR T -
o DR AV ZABELT I [ B ER AT B E 5k
&ﬁ% (T ) -

P TTIAAFFTEL (180°) -

AR M8 x 50 (f)~ WA M8 (h) - WA
%EQIM8m>ﬁ—A@lM8Q>ﬁﬂ%E<m
o (c) BEERMNLETE (d) ko N

5% (b) AITE 150/175/200 mm K38 AT 17 5 -
W5 (c) A[7E 250/275/300 mm 30 B I 5 &

: Eine Schraubenbohrung auf der Objektivseite
E]: Zwei Schraubenbohrungen auf der Objektivseite

Der Unterschied zwischen der Abbildung Y und [E] oben liegt in
der unterschiedlichen Ausrichtung der Montagehalterung (180°).

1 Drehen Sie den Projektor um, und bringen Sie die
Projektormontagehalterung (d) mit drei M5 x 12-
Schrauben (e).

¢ Achten Sie beim Anbringen der Halterung darauf, die
Schrauben nicht zu fest anzuziehen.

» Legen Sie eine Schutzfolie oder ein Tuch unter den
Projektor, bevor Sie die Projektormontagehalterung
anbringen.

2 Bringen Sie das Einstellrohr (b) oder (c) mit einer M8 x
50-Schraube (f), zwei M8-Unterlegscheiben (h), zwei M8§-
Zahnscheiben (i) und einer M8-Mutter (j) an die
Projektormontagehalterung (d) an.

Die mit Rohr (b) einstellbare Hohe betrigt 150/175/
200 mm.
Die mit Rohr (c) einstellbare Hohe betrigt 250/275/
300 mm.

: Un foro della vite per la parte laterale dell’obiettivo
B: Due fori delle viti per la parte laterale dell’obiettivo

La differenza tra e [E] nelle illustrazioni in alto & la direzione
della staffa di montaggio (180°).

1 Capovolgere il proiettore ed applicare la staffa di
montaggio del proiettore (d) usando tre viti M5 x 12 (e).

« Durante 1’applicazione della staffa, assicurarsi di non
serrare eccessivamente le viti.

 Prima di applicare la staffa di montaggio, porre un foglio
(telo) di protezione sotto il proiettore.

2 Applicare il tubo di regolazione (b) o (c) alla staffa di
montaggio del proiettore (d) usando uno bullone M8 x 50
(f), due rondelli M8 (h), due rondelli di fermo a denti M8
(i) e uno dado M8 (j).
Utilizzando il tubo (b), I’altezza & regolabile di 150/175/
200 mm.
Utilizzando il tubo (c), 1’altezza € regolabile di 250/275/
300 mm.



KHADELD {1F b T=/Attaching to the ceiling/
Montage au plafond/Montage an der Decke/Montaje en el techo/

AOU—VAERA
Screen forward
Ecran
Projektionsschirm
Pantalla @
Direzione dello
schermo

3t I3 1E1

EES English

3 TUY 22 A= VT Iy AT Y v A AV SA 3 Attach the adjustment pipe to the projector mount
TERED TS, bracket (d) using a bolt M8 x 50 (f), two toothed
FUY 28— DT A B ESICEO R £ 5, fIjEA lock washers M8 (i), two washers M8 (h) and a nut

! ) MS (j).
PSS z S .z AR XN A . .
ZOFIETHILETEETH, ZOHA RSN SHH Attach the pipes so that the projector becomes level.

i véﬁéliﬁbiﬁ‘o i ‘ You may tilt the projector slightly, but this will
ALEM8X50 (B) (14), MHfF &7 5> v —M8H (i) make the projected picture trapezoidal.

@2A), 7y v—M8H (h) @A), 7vbM8G (1K) %
L9,

4 Attach the upper ceiling mount bracket (a) to the

ceiling.
4 KHH~IVbT T 9 (2) % RIFIZHO T B, Use M10 bolts, nuts and washers (not supplied).
HHRO M10F L, Fob, Tydv—&ZHHLEEN,

10



Montaggio al soffitto/ XK _E A ZedE

3

Montez les tubes de réglage sur le support de
montage du projecteur (d) a 1’aide d’un boulon M8 x
50 (f), de deux rondelles hélice M8 (i), de deux
rondelle M8 (h) et d’un écrou M8 (j).

Fixez les tubes de fagon a mettre le projecteur a
niveau. Vous pouvez incliner légerement le
projecteur, mais cette opération donnera un aspect
trapézoidal a I’image projetée.

Fixez le support supérieur de montage au plafond (a)
au plafond.

Utilisez des boulons, des écrous et des rondelles
M10 (non fournis).

Fije el tubo de ajuste al soporte de montaje de
proyector (d) con uno perno M8 x 50 (f), dos
arandelas de bloqueo dentadas M8 (i), dos arandelas
MBS (h) y una tuerca M8 (j).

Fije los tubos observando que el proyector quede
nivelado. Aunque es posible inclinar ligeramente el
proyector, tenga en cuenta que esto producira que la
imagen proyectada aparezca con forma trapezoidal.

Fije el soporte superior de montaje en el techo (a) en
el techo.

Emplee arandelas, tuercas y pernos M10 (no
suministrados).

3

FH— MR M8 x 50 (f) « i AME i #48 M8 (i
FANEREE M8 (h) FI—MERE M8 (j) T
RIEREANZETH (d) ko

RE T E UK TERE . LU
PR, (EIX 2 (5 4% 5 1 T 2 AR o

P ERTER 2R (a) FAERILME L -
(S M0 Wk WRREAIER[E ORI ) -

Ll S

Bringen Sie das Einstellrohr mit einer M8 x 50-
Schraube (f), zwei M8-Zahnscheiben (i), zwei M8-
Unterlegscheiben (h) und einer M8-Mutter (j) an die
Projektormontagehalterung (d) an.

Stellen Sie die Obere Rohre so ein, dafl der Projektor
waagerecht hidngt. Sie konnen den Projektor

leicht neigen, aber dann nimmt das projizierte

Bild die Form eines Trapezes an.

Bringen Sie die Obere Deckenmontagehalterung (a)
an der Decke an.

Verwenden Sie M10-Schrauben, - Muttern und -
Unterlegscheiben (nicht mitgeliefert).

Applicare il tubo di regolazione staffa di montaggio
del proiettore (d) usando uno bullone M8 x 50 (f),
due rondelli di fermo a denti M8 (i), due rondelli M8
(h) e uno dado M8 (j).

Montare i tubi di regolazione in modo da sospendere
il proiettore in modo equilibrato. E possibile
inclinare leggermente il proiettore, ma I’immagine
proiettata avra una forma trapezoidale.

Applicare la staffa superiore di montaggio al soffitto
(a) al soffitto.

Usare bulloni, dadi e rondelle M10 (non in
dotazione).

11



XHADHD fF1F b z/Attaching to the ceiling/
Montage au plafond/Montage an der Decke/Montaje en el techo/

12

TYx ARV I TE R I /T 9 (@122
AB, REDT B,

Yr6mm (k) (24) LA2F9 Ty ) (2K) 2HHL
T, 7347 (b)1%150/175/200 mm. / $4 7 (c)1£250/275/
300 mm DHH TEHEARMTEET,

FIESTRE DL =K AT N T I v @ET ¥+ &
AV SA T EBEET B,

IV M4AX6 () (6A) #fiIHLET,

FKIZFME3 TIRE DL 72BN M 2 DD T, 7V v Ab
AV TEMEELET,

Insert the adjustment pipe into the upper ceiling
mount bracket (a). Attach the pipe with the two 6
mm pins (k) and the two snap pins (1).

Pipe (b) can be adjusted to a height of 150/175/200
mm (6/7/7 7/s inches); pipe (c) can be adjusted to a
length of between 250/275/300 mm (9 /s /10 /s /11
7/s inches).

Secure the upper ceiling mount bracket (a) and the
adjustment pipe you attached in step 5.

Use six M4 x 6 screws (g).

Then, tighten the bolts you attached in step 3 to
secure the adjustment pipe.




Montaggio al soffitto/ K L LRI Z 3=

5 Introduisez le tube de réglage dans le support
supérieur de montage au plafond (a). Fixez le tube a
I’aide de deux goupilles de 6 mm (k) et de deux
clavettes a ressort (1).
Le tube (b) peut se régler selon une hauteur de 150/
175/200 mm (6/7/7 7/s pouces); le tube (c) peut se
régler selon une longueur de 250/275/300 mm (9 7/s /
10 7/s /11 /s pouces).

6 Fixez le support supérieur de montage au plafond (a)
et le tube d’ajustement qui sont attachés a 1’étape 5.
Utilisez six vis M4 x 6 (g).

Serrez ensuite les boulons que vous avez insérés a
I’étape 3 pour fixer le tube d’ajustement.

5 Inserte el tubo de ajuste en el soporte superior de
montaje en el techo (a). Fije el tubo con dos
pasadores de 6 mm (k) y dos pasadores de retencion
®.

El tubo (b) puede ajustarse a una altura de 150/
175/200 mm (6/7/7 7/s pulgadas), mientras que
el (c) puede ajustarse a una longitud
comprendida entre 250/275/300 mm(9 /s /10 7/s
/11 7/s pulgadas).

6 Asegure el soporte superior de montaje en el techo
(a) y el tubo de ajuste que ha montado en el paso 5.
Emplee seis tornillo M4 x 6 (g).

A continuacion, apriete los pernos que ha montado
en el paso 3 para fijar el tubo de ajuste.

5 PR A BRI 22253228 (a) HRMA 6
mm f@EE (k) FIPAEEE (1) BEEEETE -
W% (b) ®[7E 150/175/200 mm 2 18] (DL 25
mm [EI&) #7575 WT5E (c) e 250/275/300
mm 2 [8]E75 .

6 H 6 it M4 x 6 (g) [FEE ERIENR LT
(a) FIESE 5 5% FHETE .

RIGITRIES 3 S L. HEEHETE .

5 Setzen Sie das Einstellrohr in die Obere
Deckenmontagehalterung (a) ein. Bringen Sie das
Rohr mit den zwei 6-mm-Stiften (k) und den zwei
Klammern (1) an.
Rohr (b) kann auf eine Lange von 150/175/200
mm eingestellt werden, Rohr (c) auf eine Léinge
von 250/275/300 mm.

6 Sichern Sie die in Schritt 5 angebrachten Obere
Deckenmontagehalterung (a) und das Einstellrohr.
Verwenden Sie dazu die sechs Schrauben M4 x 6 (g).
Ziehen Sie dann die in Schritt 3 angebrachten
Schrauben an, um das Einstellrohr zu sichern.

5 Inserire il tubo di regolazione all’interno della staffa
superiore di montaggio al soffitto (a). Applicare il
tubo con due piedini di 6 mm (k) e due piedini a ad
incastro (1).

Il tubo (b) pud essere regolato ad una lunghezza
variabile fra 150/175/200 mm e il tubo (c) puo
essere regolato ad una lunghezza variabile fra 250/
275/300 mm.

6 Fissare la staffa superiore di montaggio al soffitto
(a) e il tubo di regolazione applicati al passo 5.
Usare sei vite M4 x 6 (g).
Serrare quindi i bulloni applicati al passo 3 in modo
da fissare il tubo di regolazione.

13



XHADHD fF1F b z/Attaching to the ceiling/

Montage au plafond/Montage an der Decke/Montaje en el techo/

VPL-S900E{}8§MDTi% / Dimensions for attaching the projector
suspension support to the VPL-S900 / Dimensions d’installation du
support de suspension pour projecteur sur le VPL-S900 / Abmessungen
zum Anbringen der Projektoraufhdngung am VPL-S900 / Dimensiones
para instalar el soporte de suspension para proyector al VPL-S900 /
Dimensioni per I’applicazione del supporto di sospensione del proiettore
al modello VPL-S900 / \VPL-S900 &3 R~f

] 2]

\

38 (1172)
133 (5 1/4)
//61 (2 13/32)
< 216.6 (8 17/32)
166.5 (6 9/16)
éﬁj O
ikq 175 (6 7/s)
i @ 49 (1 15/16)
57.5 (2 1/4)
1) o
B mm
Units : mm (inches)
Unité : mm (pouces)
Einheit : mm
(5] Unidades : mm (pulgadas)
Unita : mm
AL mm

(=] m |
ESRREER
TRV —DL Y ADHRLHE Y — Y DOHIN
BES EDICERKE L TL Z &0,

LY ZOHiDN 6 22 — v % O
) — Vi

LSNP

¥ By M

HH~Y Y T I 9 b
ﬁp*ﬁ(iﬁm\ﬁw¢®a@§&@i

¥ Al

© 00000
T el it A PN

14

Top view
Align the center of the lens with the center of the screen.

a) Distance between the screen and the center of the lens

@ Center of the screen

@ Center of the unit

© Front of the cabinet

O Upper ceiling mount bracket

@ Center of the supporting pole (The center of the
supporting pole is different from that of the unit.)

© Center of the lens




Montaggio al soffitto/ K L LRI Z 3=

Vue du dessus
Alignez le centre de I’objectif sur le centre de 1’écran.

a) Distance entre I’écran et le centre de 1’objectif
Centre de 1’écran

Centre de 1’appareil

Avant du meuble

Support supérieur de montage au plafond

Centre du pivot de support (Le centre du pivot de
support est différent de celui de 1’appareil)
Centre de I’objectif

© 00000

Vista superior
Alinee el centro del objetivo con el centro de la pantalla.

a) Distancia entre la pantalla y el centro del objetivo
Centro de la pantalla

Centro de la unidad

Parte frontal de la caja

Soporte superior de montaje en el techo

Centro de la columna de soporte (El centro de la
columna de soporte no es el mismo que el de la unidad)
Centro del objetivo

© 00000

3L
HLE
TR AOE SR L 5 BT L 5F -

a) hfa &S L 2 AR

O GENHL

O B UHIL

HLITHTIH

RT3 5 B

SCREALL (SRR LSBT LAR)

3]
4]
54
0O ZE#HNHL

Draufsicht
Richten Sie die Mitte des Objektivs an der Mitte des
Projektionsschirms aus.

a) Abstand zwischen dem Projektionsschirm und der Mitte
des Objektivs

Mitte des Projektionsschirms

Mitte des Gerits

Vorderseite des Gehduses

Obere Deckenmontagehalterung

Mitte des Stinders (Die Mitte des Stianders entspricht

nicht der des Geriits)

Mitte des Objektivs

© 00000

Vista dall’alto
Allineare il centro della lente con il centro dello schermo.

a) Distanza fra lo schermo e il centro dell’obiettivo
Centro dello schermo

Centro dell’apparecchio

Parte anteriore dell’apparecchio

Staffa superiore di montaggio al soffitto

Centro per 1’asta di supporto (Il centro per 1’asta di
supporto ¢ diverso da quello dell’apparecchio)
Centro della lente

© 00000

15



XHADHD fF1F b z/Attaching to the ceiling/

Montage au plafond/Montage an der Decke/Montaje en el techo/

BAL o mm

61 216.6
250 (9 7% (213/32) (8 17/32)
125 (5) ‘
\m# iz %.4 ]
o L 2 %
—2
t—V 170 ng
S AN [ N
(6 b o
175 49 e e/
(67/8) (1 15/16) B3] : mm
Units : mm (inches) R
Unité : mm (pouces) 133
Einheit : mm (514 |_
Unidades : mm (pulgadas) 171 151.5
Unita : mm (623/32) (53132

SRR

LY ZOwoiE, SZHEO RO XD AHNZ49 mmdh

TWET, KHFICHBET I L 21T, ZhohoTik

BLLVLVYZOHNLEZZ ) —VvDOhbhEHEbETL

X0,

Q Kt

O Ko Tuvesa—vm Y Ty FED
54 18 RS ¢ oD PR
TOXAMAY IS, T ) Ao b

150/175/200 mm
TVxAbAYVISA T () EMS=0E
250/275/300 mm
®© Fuvra—wyY Ty FRDHTH
O
[ 5 I NZNE LN
6?&&¢®(iﬁm\$%¢®amﬁtbi
EHhSREH
@ F vty MM
0O L v X

16

Front view
The lens is offset 49 mm (1 '%/is inches) to the right from
the center of the supporting pole. When mounting, take
care to align the center of the lens with the center of the
screen; not the center of the supporting pole.
(1) Ceiling
@ Distance between the ceiling and the surface of the
projector mount bracket
Using adjustment pipe (b):
150/175/200 mm (6/7/7 7/s inches)
Using adjustment pipe (¢ ):
250/275/300 mm (9 /s /10 7/s /11 7/s inches)
© The bottom surface of the projector mount bracket
O Center of the lens
@ Center of the unit
@ Center of the supporting pole (The center of the
supporting pole is different from that of the unit.)

Side view
@ Front of the cabinet
© Front of the lens



Montaggio al soffitto/ X{£ 1R _E %

AdE
<

Vue frontal
L’objectif est décalé de 49 mm (1 '%/is pouces) vers la droite
du centre du pivot de support. Au moment du montage, veillez
a aligner correctement le centre de 1’objectif sur le centre de
I’écran; pas le centre du pivot de support.
© Plafond
@ Distance entre le plafond et la surface du supprt de montage
Utilisation du tube de réglage (b):
150/175/200 mm (6/7/7 7/s pouces)
Utilisation du tube de réglage (c):
250/275/300 mm (9 7/s /10 /s /11 "/s pouces)
© Le dessous du support de montage du projecteur
O Centre de I’objectif
@ Centre de ’appareil
@ Centre du pivot de support (Le centre du pivot de
support est différent de celui de 1’appareil)

Vue latérale
@ Avant du meuble
O Avant de I’objectif

Vista frontal
El objetivo estd desplazado 49 mm (1 '5/16 pulgadas) a la
derecha del centro de la columna de soporte. Al realizar el
montaje, alinee el centro del objetivo con el centro de la
pantalla y no con el centro de la columna de soporte.
© Techo
@ Distancia entre el techo y la base del proyector
Uso del tubo de ajuste (b):
150/175/200 mm (6/7/7 7/s pulgadas)
Uso del tubo de ajuste (c):
250/275/300 mm (9 /s /10 7/s /11 "/s pulgadas)
© La base del la superficie del soporte de montaje de
proyector
O Centro del objetivo
© Centro de la unidad
@ Centro de la columna de soporte (El centro de la
columna de soporte no es el mismo que el de la unidad)

Vista lateral
@ Parte frontal de la caja
@ Parte frontal del objetivo

EARE
Bik B AR L A R ES 49mm .
TAERS, 1R LA (MEHERSEAGZ R L) 5
B A LK FF o
Q Kiiik N
O KA FAAN 2243 20 > 248 1 2 (B R
HHETE (b): 150/175/200mm
HHETE (c): 250/275/300mm
O AL T I R
O EEiyHL
O #ALHL
O HEHUL (TS
)
@ PLrCHiE
O EHinim

(LA )

Vorderansicht
Das Objektiv am Projektor ist 49 mm nach rechts von der
Mitte des Stinders versetzt. Achten Sie beim Installieren
darauf, die Mitte des Objektivs, nicht die Mitte des
Standers, an der Mitte des Projektionsschirms auszurichten.
© Decke
@ Abstand zwischen der Decke und der Oberlfiiche der Hlaterung
Mit Einstellrohr (b): 150/175/200 mm
Mit Einstellrohr (c): 250/275/300 mm
© Dic Unterseite der Halterung
O Mitte des Objektivs
O Mitte des Geriits
O Mitte des Stiinders (Die Mitte des Stdnders entspricht
nicht der des Gerits)

Seitenansicht
@ Vorderseite des Gehiuses
@ Vorderseite des Objektivs

Vista frontale

Rispetto al centro per I’asta di supporto, la lente del proiettore

¢ spostata verso destra di 49 mm. Durante il montaggio,

assicurarsi di allineare il centro della lente del proiettore e non

il centro per ’asta di supporto con il centro dello schermo.

@ Soffitto

@ Distanza fra il soffitto e la superficie della staffa di
montaggio
Utilizzando il tubo di regolazione (b): 150/175/200 mm
Utilizzando il tubo di regolazione (c): 250/275/300 mm

© La superficie inferiore della staffa di montaggio del
proiettore

O Centro della lente

@ Centro dell’apparecchio

@ Centro per I’asta di supporto (Il centro per I’asta di
supporto ¢ diverso da quello dell’apparecchio)

Vista laterale
@ Parte anteriore dell’apparecchio
@ Parte anteriore della lente

17



KHADHLD 1F fl/Installation Examples/Exemples

d’installation au plafond/Installationsbeispiele/

DTEHZRY Y g V3R = bR 5 hiz b
DT AR L &+, SIHOMII & > THIR IS 555
h%.

E=3

0D (15 5 it FIF ORI 120 kebl 1 % = & %
B < R,

Les illustrations suivantes représentent le support de
suspension du projecteur fixé au plafond.
L’installation s’effectue différemment en fonction de
la constitution du plafond.

Remarque

Vérifiezque la charge maximale du plafond soit
suérieure a 120 kg (264 1b 8 oz) avant I’installation.

Las siguientes ilustraciones muestran el soporte de
suspension para proyector fijado al techo. La
instalacion varia en funcién del material del techo.

Compruebe la capacidad de carga maxima del techo
sea superior a 120 kg (264 Ib 8 oz) antes de realizar la
instalacién.

TR ERIERTENR | 2238 BRI T 2 22505 8 R TE A R
57 o

AT R BRI R KR E RS (E 120 kg KU L -

H

18

The following illustrations show the projector
suspension support attached to the ceiling. Installation
is different depending on the material of ceiling.

Before installation, check that the maximum ceiling
loading is in excess of 120 kg (264 1b 8 oz) .

In den Abbildungen unten ist dargestellt, wie die
Projektorauthingung an der Decke angebracht wird.
Die Installation unterscheidet sich je nach Material
der Decke.

Uberpriifen Sie vor der Installation, ob die maximale
Belastbarkeit der Decke mindestens 120 kg betrégt.

Le seguenti illustrazioni mostrano il montaggio al
soffitto del supporto di sospensione del proiettore. La
procedura di installazione varia a seconda del tipo di
soffitto.

Prima di procedere con 1’installazione, verificare che
il peso massimo di portata del soffitto sia superiore a
120 kg.



Ejemplos de instalacion en el techo/Esempi di

installazione al soffitto/ X £ 2235

IRRHICE b {113 335&/For wooden ceiling/Pour un plancher/Montage an
einer Holzdecke/Para techos de madera/Montaggio ad un soffitto in legno/

LETAH KRR LZE

EEF lzlF R EEDIZES/For-one-story house or uppermost floor/Pour maison a un étage ou plafond
sous un toit/Decke eines einstéckigen Hauses oder des obersten Stockwerks/ Para casas de una
planta o plantas superiores/Montaggio in una casa a piano unico o all’ultimo piano/F I~ & sl i %

FrEXRY MIE

Front of the cabinet

Avant du meuble

Vorderseite des Gehduses \

Parte frontal de la caja

Parte anteriore dell’apparecchio

L7 Bl T .
f#i3@41/Reinforcing material/Matériau de renfort/ <=
Verstéarkungsmaterial/Mterial de refuerzo/ 61 Nail
Materiale di rinforzo/# i1t (2"/32)  Glou

250
(9 /s2) 216.6
125 2 (5x20 cm)/Roof beam (2" x 8”) /Traviesa (2" (817 /'32) Punta
(4 /32) x 8”) /Tragerbalken (ca. 5 x 20 cm) /Viga de f—————
- techo (2” x 8”) /Trave del soffitto (circa 5 x 20 bf (28
cm.) /i (5x20cm) :

§
W

H A
\

X#/Ceiling line/Niveau du plafond/Deckenlinie/ /

Linea de techo/Livello del soffitto/ & {£.#k / df%% ,

>y hET YD v —THIOHIEMI0RIL b/

M10 bolt with nut and washer/Boulon M10 avec
écrou et rondelle/M10-Schraube mit Mutter und/
Perno M10 con tuerca y arandela/Bullone M10
con dado e rondella/ FIRAREAIFARFTE I M10 1842

XHAYOV ISy bk
Upper ceiling mount bracket
Support supérieur de montage au plafond
Obere Deckenmontagehalterung
ki Soporte superior de montaje en el techo
1L Staffa superiore di montaggio al soffitto wa
Center of the supporting pole IR e Unité : mm (pouces)
: PEIREER SO Einheit : mm
Centre du pivot de support — . o
Mitte des Standers L Xy Unidades : mm (pulgadas)
Centro de la columna de soporte  Center of the lens Unita : mm
Centro per I'asta di supporto Centre de l'objectif L mm
PLES Y L Mitte des Objektivs
Centro del objetivo
Centro della lente
Bk L
FTREDHS LY ZRDE TOERMIIEEICK > TELDFTITOT., 7OV I 5—FKEDFFHIERARBEHRAZSECELIEE,
BREICL-TIFTOVIIHI—TI DY NISHy MOEHAICEEEINE T,
The distance between the center of the supporting pole and the center of the lens differs depending on the model. For details, refer to the Installation Manual for Dealers.
In some models, the projector mount bracket will be installed in the opposite direction.
La distance entre I'axe du pivot de support et I'axe de I'objectif différe suivant les modeles. Pour plus de détails, reportez-vous au manuel d'installation destiné aux revendeurs.
Sur certains modeles, le support de montage du projecteur est installé dans l'autre sens.
Der Abstand zwischen der Mitte des Standers und der Mitte des Objektivs hangt vom jeweiligen Modell ab. Einzelheiten dazu finden Sie in der
Installationsanleitung fir Handler.
Bei einigen Modellen wird die Projektormontagehalterung in umgekehrter Richtung installiert.
La distancia entre el centro del polo de apoyo y el centro del objetivo varia en funcién del modelo. Para obtener informacién detallada, consulte el manual de
instalacion para proveedores.
* En determinados modelos, el soporte de montaje de proyector se instala en la direccién contraria.
La distanza tra il centro dell’asta di supporto e il centro dell’obiettivo cambia in base al modello. Per ulteriori informazioni, fare riferimento al manuale di
installazione per i rivenditori.
In alcuni modelli, la staffa di montaggio del proiettore viene installata nella direzione opposta.
SCEALLE BB OA BRI R o AOCTE . 152 PR 2 Tt -
SCAEHURY,  FLRE N 2 S B e BT 1) T 22

Bfii : mm
Units : mm (inches)

* % % E % % %

*

* * *

*

*

19



KHADHLD 313 fl/Installation Examples/Exemples d’installation

au plafond/Installationsbeispiele/

ZDfthDFEDIZSE/For other floors/Autres sols/Zwischendecken/Para otros suelos/Per altri piani/
AR & FpERy NTE

Front of the cabinet

Avant du meuble

Vorderseite des Gehauses

Parte frontal de la caja

Parte anteriore dell'apparecchio

WL i

L DBEDER/Floor line/Niveau du plancher/

Bodenlinie/Linea de suelo/Livello del
pavimento/ | — 2k

Z/Joist (2” x 8”) /Traverse/Deckenbalken
(ca. 5 x 20 cm) /Traviesa (2" x 8”) /
Travetto(circa 5 x 20 cm.) /5% (5% 20 cm)

2 (5%20 cm) /Roof beam (2" x 8”) /Ti raverse\\
(2" x 8”) [Tragerbalken (ca. 5 x 20 cm) /Viga

de techo (2” x 8”) /Trave del soffitto (circa 5 x
20cm.) /2 (5% 20cm)

K3#/Ceiling line/Niveau du plafond/
Deckenlinie/Linea de techo/Livello del

soffitto/ I {¥

Fv b&ED Y Y v—THIOTEMI0RIL B/M10
bolt with nut and washer/Boulon M10 avec
écrou et rondelle/M10-Schraube mit Mutter
und Unterlegscheibe/Perno M10 con

tuerca y arandela/Bullone M10 con dado e

rondella/ FZ RFFIFAE T M10 i
XHAYOV RIS Y b

Upper ceiling mount bracket

Support supérieur de montage au plafond
Obere Deckenmontagehalterung

Soporte superior de montaje en el techo

THERD Staffa superiore di montaggio al soffitto BT mm -
Center of the supporting pole E R LS 3::;: ' nr;rr: ((mc()::ss;)
&i?trg duSpti_\_/o(t:1 de support LY Xt Einhei.t : mmp
Itte aes standers Center of the lens ; .
Centro de la columna de soporte  Centre de I'objectif 8::?;9?;;; mm (pulgadas)
Centro per I'asta di supporto Mitte des Objektivs A -mm
B AL Centro del objetivo
Centro della lente
Bkl

* ZRADDS LY ZRDE TORHIEEICL O TREDEIDT. JOY 175 —KEDRHIERAREHABZ CEIEE L,

*EEBICK-oTRTIOYVI Y- IV ISy MABICEBEEINF T,

* The distance between the center of the supporting pole and the center of the lens differs depending on the model. For details, refer to the Installation Manual for Dealers.

* In some models, the projector mount bracket will be installed in the opposite direction.

* La distance entre I'axe du pivot de support et I'axe de I'objectif différe suivant les modéles. Pour plus de détails, reportez-vous au manuel d'installation destiné aux revendeurs.

* Sur certains modeéles, le support de montage du projecteur est installé dans I'autre sens.

* Der Abstand zwischen der Mitte des Standers und der Mitte des Objektivs hangt vom jeweiligen Modell ab. Einzelheiten dazu finden Sie in der
Installationsanleitung fir Handler.

* Bei einigen Modellen wird die Projektormontagehalterung in umgekehrter Richtung installiert.

* La distancia entre el centro del polo de apoyo y el centro del objetivo varia en funcién del modelo. Para obtener informacién detallada, consulte el manual de
instalacion para proveedores.

* En determinados modelos, el soporte de montaje de proyector se instala en la direccién contraria.

* La distanza tra il centro dell’asta di supporto e il centro dell’obiettivo cambia in base al modello. Per ulteriori informazioni, fare riferimento al manuale di
installazione per i rivenditori.

* In alcuni modelli, la staffa di montaggio del proiettore viene installata nella direzione opposta.

* D BB SRR o RS HS SIS T

* REBENEL, HP AN R SO BT [ T 2

20



Ejemplos de instalacion en el techo/Esempi di installazione al

soffitto/ KL Z 35

a2V VU—MRHFICED{}IFBHES/For concrete ceiling/Pour un plafond en
béton/Betondecke/Para techos de hormigén/Montaggio ad un soffitto di
cemento/7EiR &+ KL L3Rt

d> o U— kX#H/Concrete ceiling/Plafond en
béton/Betondecke/Techo de hormigdn/Soffitto di
cemento/EfE+ R AL

Vo U— b7 H—(12 mmfRRLE)/Anchor for
concrete (over 12 mm; '/2 inch dia.) / Ancrage
/ﬂ/ pour béton (supérieur a 12 mm; /2 pouce de
' diametre) /Betonanker (mehr als 12 mm
UTU o \ Durchmesser) /Anclaje para hormigén (con

diametro superior a 12 mm; /2 pulgada) /Catena

EEiRH 580 mmll_EEEE %= per cemento (oltre 12 mm di diametro)/ & k& 1-4[&]

EDTLREL, (B2 12mm L L)

Place bolts at least 80 mm XHAYOY RISy b

(8 "4 inches) away from Upper ceiling mount bracket

wall. /Ecartez les boulons ~ 7OYTI%—  Support supérieur de montage au plafond

de 80 mm (3 '/« pouces) Projector Obere Deckenmontagehalterung

du mur minimum. / Projecteur Soporte superior de montaje en el techo

Schrauben mindestens 80  Projektor Staffa superiore di montaggio al soffitto

mm von der Wand entfernt Proyector AR e S

anbringen. /Coloque los Proiettore

pernos a una distancia de  #%54{Y
al menos 80 mm (3 '/a

pulgadas) de la pared. /
Collocare i bulloni ad

almeno 80 mm dal muro. /

sl R 5 B REMEE 80 mm

Pt

21



FE 13 {L#R/Specifications/Spécifications/Technische

Daten/Especificaciones/Caratteristiche tecniche/#]1&

SHZ~Fi%/Dimensions/Mesures/Abmessungen/Dimensiones/Dimensioni/ K ~f

KHRARIV RISy b (a)
Upper ceiling mount bracket _
Support supérieur de montage au 250
plafond = | g O 250 (9 #//z2)
Obere Deckenmontagehalterung Z io
Soporte superior de montaje en el g :o_/ T
techo Q| 2 12.7('/2)
Staffa di montaggio al soffitto o 25(3'/32)
J:/I\T"*ﬁ%"tim 127(1/2)

250 (9 ?7/32)

317.5 (12 /2) 94.8 (3 %/32)

171 kX2 NN F/Adjustment pipes/Tubes de réglage/Einstellrohre/Tubos de ajuste/Tubi di regolazione/

<
< \"
i

© [0 @ 0 o o 9] 0@ ¢ > o o 9|

X o5 75 5 75
26 (1 '/a2) 93'2 CTz2) (2 "%)6) ?a'/f (37/s2) (2 e)
140 (52 240 (9 7/16) |

JOvzzoy—<II IS4 v Projector mount bracket/Support de montage du projecteur/
Projektormontagehalterung/Soporte de montaje de proyector/Staffa di montaggio del proiettore/
PR L SR

(d) . 188.4 (7'%/32)
163 (6 ¥/32)

e

B : mm —
Units : mm (inches)

Unité : mm (pouces)
Einheit : mm

Unidades : mm (pulgadas)
Unita : mm

A : mm

150.6 (5 '5/16)

o
V_I\
—

- - 12.7 (1 —
81.5 (3 7/z2) (V2) 52 (2 /1)

22



#8d+ EIFBFD~i%/Dimensions of the assembled bracket/Dimensions du support assemblé/
Abmessungen de montierten Halterung/Dimensiones del soporte de monitaje/Dimensioni della staffa

montata/ 7 ZE4H 25 f5 > R <)

317.5 (12 ')

250 (9 #/32)
25(4%/32)

1 ]

\i

ASA

-

aIH S BreE/Front view/Vue frontale/Vorderansicht/Vista frontal/Vista frontale/ IE 1% &

B
N
N

s

4y

150/175/200
(6/7 17 7/s)

BAfi] : mm

Units : mm (inches)

Unité : mm (pouces)
Einheit : mm

Unidades : mm (pulgadas)
Unita : mm

A7 o mm

317.5 (12 'f2)
250 (9 2'/a2)
25(4 29/z)

A
\

1 ]

A A

11
w2 rolvsssa z

250/275/300
R

(9 7/s/10 7/s/11 7/e)

BE #92.7 kg/Mass Approx. 2.7 kg (5 Ib 15 0z) /Poids : 2,7 kg approx. (5 Ib 15 0z) /Gewicht : ca. 2,7
kg/Masa: 2,7 kg aprox. (5 Ib 15 0z) /Peso approssimativo: 2,7 kg/ & #J 2.7 kg

MATE &A20 kg/Maximum loading :20 kg (44 Ib 1 0z) /Charge maximale: 20 kg (44 Ib 1 0z) /
Carga maxima: 20 kg/Carico massimo: 20 kg (44 Ib 1 0z) /Portata massima: 20 kg/fx K#EHE & 20 kg

ks KOS . SR D7D TELLS AR T2 L0835 D
EIA, TTRSEEN,

La conception et les spécifications sont sujettes a
modifications sans préavis.

Disefio y especificaciones sujetos a cambios sin
previo aviso.

IME RS ANEZH . A SITIEA] -

Design and specifications are subject to change
without notice.

Anderungen, die dem technischen Fortschritt dienen,
bleiben vorbehalten.

Il design e le caratteristiche tecniche sono soggetti a
modifiche senza preavviso.

23



{3##/Appendix/

Appendice/Anhang/Apéndice/Appendice/f{f 5

BEZRE T SICIF/Adjusting the Angle of the Projector/Réglage de I’'angle
du projecteur/Anpassen des Projektorwinkels/Ajuste de angulo del
projector/Regolazione dell’angolazione del proiettore/iAZ 8V AEH G

AOU—-VFAE[ \ y —

Screen forward 6- s " '

Ecran _ +15° : (d)

Projektionsschirm 150 S

Pantalla - [ ]

Direzione dello ]

schermo

#7718
English

=]

B E ST T uy xr 2 =R E RIFO g EHRHIEL, 2 Depending on the installation condition, adjust the angle
KOFELL (f) AkidDEF, 2KDELL () #02HBZLTT between the bottom surface of the projector and the
Oy o8—=< 77 9b (d) %+ 158 ~— 15 OHPHT ceiling, and the tighten the two bolts (f). By loosening
T T ——— the two bolts (f), you can adjust the projector mount

bracket (d) to between +15° and —15°.

M This informs in regard to the modification of the
appendix of PSS-610

Suivant les conditions d’installation, ajustez 1’angle

entre la surface de base du projecteur et le plafond, puis A CAUTION

serrez les deux boulons (f). Desserrez les deux boulons For VPL-HS5x series only

(f) pour ajuster le support de montage du projecteur (d) Please make sure to be horizontal when the projector
dans une plage de —15 a +15°. is installed.

Dependiendo de la condicién de instalacion, ajuste el Stellen Sie den Winkel zwischen der Unterseite des
angulo entre la superficie inferior del proyector y el Projektors und der Decke je nach Montagebedingungen
techo, y después apriete los dos pernos (f). Al aflojar ein, und ziehen Sie die beiden Schrauben (f) an. Wenn Sie
los dos pernos (f), podra ajustar el soporte de montaje die zwei Schrauben (f) 16sen, 146t sich der Winkel der
de proyector (d) entre +15° y —15°. Projektormontagehalterung (d) zwischen +15° und

—15° einstellen.
. T —
L R L e rererm— 1
SRIGIT RN R (f) « ST RAT MR (f), AT l,n asle are Conl IZIOmf. ! l.nsfta. aZl(;)rIe’ regotare

] b R B S S () I’angolazione tra la superficie inferiore del proiettore e

15 +15°Fl1 —15 ° G H N TR SR (23S 2R ° il soffitto, quindi stringere i due bulloni (f). Allentando

i due bulloni (f), & possibile regolare la staffa di

montaggio del proiettore (d) tra +15° e —15°.

FOZAVLAYTAR=0a ey I—
BEEHBS | 053-577-3861
(BEOBHFBEBVICTERLLEEZW)
BB A~SRE o resE % ZDBIIE 100 % AR FHERGAE BIL TOE S,
Printed on 100 % recycled paper.
I. B. B FRIokF~FE&58

http://www.sony.net/
vo—#Ratt T141-0001 SRE#BRIIRILRIII6-7-35

6-7-35 Kitashinagawa, Shinagawa-ku, Tokyo, JAPAN 141-0001 Printed in Japan



